Solving Proportions Practice Problems
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Solving Proportions Practice Problems Answers



Solving Equations Practice Problems

1) 74 =22+ 6x) + 2x

2) —4k—-5Q2k+1) =27 -6k
3) =3n+30=33n+2)

4) —4n—-2(6+2n) =-2+6n
5) 5x—-3=-3-x

6) 1+r=3r—-11

4

7.) —§x+2x=§

8.) 3n—In=-2
2 2

9.) m—-n=-1
2 2

10.) —x—7x=15-3x



Solving Equations Practice Problems Answers

2) —4

3) 2

4) =5

6) 6

7) 2

8) 1

9) 2

10.) -3



Write the Equation of a Line Given 2 Points Practice

Write the equation of each line passing through the given points.

1) through: (3, 0) and (1, —4) 2) through: (0. 5) and (4, 1)
3) through: (0. 3) and (—4., 3) 4) through: (0, —1) and (4, 0)
5) through: (1. —5) and (1, 5) 6) through: (0. 1) and (—4, 1)

7) through: (0. —2) and (4. 5) 8) through: (—4. 5) and (-5. -3)



Write the Equation of a Line Given 2 Points Practice Answers

1) through: (3. 0) and (1. —4)

v=2x%—6

3) through: (0.3) and (—4. 3)

-

y=3

L
L

5) through: (1.—5) and (1. 5

LA
E

7) through: (0. —2) and (4.

9) through: (2. 1) and (0. -2)

2) through: (0. 5) and (4. —1)

4) through: (0. 1) and (4. 0)

V=——X—

4

6) through: (0. 1) and (—4. 1)

y=1

8) through: (4. 5) and (-5, —3)

v=10x+45

10) through: (-3, 3) and (-2, 2)

y=-x



Write the Equation of a Line Given 1 Point and the Slope Practice

4 1
1) through: (i ll slope=— 2) through: |:3= 31 slope = 5
J
5 2
3) through: (l 2), slope= S 4) through: |:3= —1} slope = E
_ 7 1
5) through: [—3= —El slope = &) through: |:—1 —?_l slope =—
5 2

2 _ =_
7) through: (4.4). slope= §) through: (-2.-3). slope=~1

b | =



Write the Equation of a Line Given 1 Point and the Slope Practice Answers

4 1
1} through: (i ll slope=— 2} through: (l 31 slope = ;
)
y=—x-3 v=—x+2
3) through: (l 21 slope =% 4} through: (l 41 slope = %
vv=-3-x—3 v==x+2
2 3
_ 7 1
5) through: (—1 —21 slope = — &) through: (4= —21 slope =— 5—
3
T 1
vV=—x+23 vV=——x
5 2

7y through- (4.4). slope= % 8) through: (-2, -3), slope=-1

y=—x—23

y=lx+2
2



Determining if Lines are Parallel, Perpendicular or Neither Practice

Determine whether each pair of lines are parallel, perpendicular, or neither. Explain you answer.

1) y=2x-4 and 6x-y=1 5) y=-3x+11 and y=2x-3
Answer: Answer:

2) y=-2x-18 and 5x+2y=-8 6) y=-2x+9 and y=-3x+4
Answer: Answer:

3) y=£x-20 and y=-£x-3 7) y=32x-16 and y=-3x+4
Answer: Answer:

4) y=-§x-1? and -5x + 3y =-9 8) y=x+7 and x+y=-
Answer: Answer:




Determining if Lines are Parallel, Perpendicular or Neither Practice
Answers

1. Neither - their slopes are not exactly the same and are not opposite reciprocals
2. Parallel - their slopes are exactly the same

3. Neither - their slopes are not exactly the same and are not opposite reciprocals
4. Neither - their slopes are not exactly the same and are not opposite reciprocals
5. Perpendicular - their slopes are opposite reciprocals

6. Parallel - their slopes are exactly the same

7. Perpendicular - their slopes are opposite reciprocals

8. Perpendicular - their slopes are opposite reciprocals



Graphing a Line by Making a Table of Values Practice

Graph each line by creating a chart of x and y values. Find and plot at least 3 points.
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3 Ix+yv=—4
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5 x+y=-73
J.}‘
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1 1 3 4 5 &y

D 2x—y=3

4y x—4y=0

£ -5 4 & 2 -

w¥

6) x+2y=10

R T

. ]




Graphing a Line by Making a Table of Values Practice Answers

** X values that you choose will vary. Here are what the graphed lines should look like, regardless of the points
you chose**

D x—4y=12 ) 2x—y=3

............

—€1
4) x—4y=0
;Jr'
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|
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JEEE=SREREREE
-3
|
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—C;
5) x+yv=-73 6) x+2y=10
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Graphing a Line in Slope Intercept & find m and b Practice

YA _8
1) . equation y=3X 5
|
< o4 <] -2 . 1 2 3 4 ;
) slope (m) =
- y-intercept =
A
YA _1
3) | . equation y=3x+3
|
3
1 -4 -3 -2 1 & 3 4 ;
. : - : : - . . . Slnpe (m] =
]
‘- y-intercept =
v
Y4 1
5) s equation y=zx-2
|
NEEEE IBEEE! X
N slope (m) =
-+ y-intercept =
-"’l
YA ]
. , =-2x+4
7) . equation 4
|
< 4 4 4 4 i 1 2 3 4 f
| . slope (m) =
i y-intercept =
v

¥
2) i equation y=2x-4
< . : >
1 slope (m) =
i y-intercept =
v
Y _ 7
4) i equation y=-3zx+4
]
-— - >
| slope (m) =
- y-intercept =
K}
Y
6) 3 equation ¥~ " *7 3
< >
R slope (m)=______
“ y-intercept =
u"
A _
8) . equation y=-4x+4
“— - : >
) slope (m) =
:1 y-intercept =
¥




Graphing a Line in Slope Intercept & find m and b Practice Answers

i =8,_
1) . ;.-' equation y=3X-5
111
= f,f'
"4 4424411 ,.h 4 ;’ ﬁ
. ;,’ slope (m) = 3
:;f y-intercept=__ -5

=1
equation y=3x+3
14 [ I I | 1 3 3 4 ; l
] slope(my=___ 2
b
- y-intercept = __ 3
W
Y4 _1
5) equation y=gx-2
|
D e e e 177 4____;' 1
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-'"
his 3
- = 3,4
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equation y=2x-4
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y-intercept=__ -4
=1
equation y=-3zx+4
X Z
slope (m) = 3

y-intercept = __ 4

equation y=-x+3

X 1

slope (m)=__ ~

y-intercept = _ 3
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v
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equation y=-dx+4
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Finding x and y intercepts and Using them to Graph a Line Practice

Find the x and y intercepts of each. Use them to graph each line.

x+y=2 5x —3y =15
1 ] L [ 1:%d o I q [ 1|15
x- and y- intercepts: x- and y- intercepts:

x- and y- intercepts: x- and y- intercepts:




Finding x and y intercepts and Using them to Graph a Line Practice Answers

x+y=2 5x —3y =15

T

.

x- and y- intercepts: (2,0) and (0, 2) x- and y- intercepts: (3,0) and(0,—5)

4y = 3x + 12 2x+y=-8

W

x- and y- intercepts: (—4,0) and (0,3) x-and y- intercepts:(—4,0) and (0, —8)



Solving and Graphing Inequalities Practice Problems

Solve each inequality. State your solution and graph it on a number line.

f Ty —
1y 25¥ 2 ;.)qu:al-si(n?wll) -
3 D
8 7 6 5 4 3 2 -1 0 1 2
3) —16 = —4(x + 3) 4) -35>—5(n-3)
e 3 23012 3 8 5 6 NEEEEEETEEEEEN
5) —60 < 5(—4 +
) So=staen) ) % +521
16 -14 42 -3 5
n -10 -3 ) —4 2
7) -1 +3x =11 8) 2(x+5)<8
-ttt -—+ + } } } } } } } } -
-4 =3 2 -1 0 1 2 34 5 & —10 -3 -4 —4 -2
)As<iedk 0 o122
12 —10 -8 = —4 2 2

—10 -3 ] —4 -2

'1!



Solving and Graphing Inequalities Practice Problem Answers

2) 20> 4(m+ 1)

1) 2222
o
3 14 -2 -1 -8 -5 -4
e e el i
4 T 6 5 4 3 2 - 0 1 2 m<—6
v<0
3) —16 = —4(x + 3) 4) =35> -5(n-13)
—————— ———
4 3 =2 4 0 1 2 3 4 5 & 6 7 8 9 10 11 12 13 14 15 15
xz1 =10
5) —60 <5(—4 +
) ( ) 6) —+5=1
S . R . .
-6 -4 12 10 -8 %
nz -8 o -1 —.s -5 4 —21—
az-8
7) —1+3x> 11 8) —2(x+5) <8
- —— «——t—+
4 3 =2 4 0 1 2 3 4 5 & 10 -8 % -4 -2
x=4 x>-9
9) -15 <3+ 3k 1 9
) 10) —Ha-1)==>
- + . - 2
42 10 -8 % -4 2
k=-6 - —10 —.3 & —4 R



Solving and Graphing Compound Inequalities Practice Problems - “and”

Solve each inequality. State your solution and graph it on a number line.

1) 47 <5 — Tr < 61 2) —13 < —Tm—6<22
-—tt—+—+—+—+—+—+—F—+—F—+— -ttt

-1& -14 -12 10 - —£ -8 -7 £ -5 4 - -1 -1 0 1 1 5 4
) 2<l-a<7 H3<6+m=1l

- 74543121101 2 3 4 3 & - -5 4 -5 -2-1 o 1 2 3 4 5 & 7

5) 27=4x-3 <3 6) 43 =5a—-8<-8

I S S S S R D P A

Ty 20«2n—-4=-4 8) 29«<4b-1<7

R P A A A A A A A
b s

9) —1-:ﬁ-::0 10) -1<—=1



Solving and Graphing Compound Inequalities Practice Answers-

1) 47=5-Tr=61

-—t———+ ———t——t——t———{———
-5 -1 -17 -1 -8 -=

—BarZ-§

3) 2<l-a=<7

5) 27=4x-3 <5

e —————
-7 & -3 4 -3 -2 -1 0 1 2 3 4

HZx<?

7) 20<2n-4<—4

i : e " L 2 : E 2 L .. : bl
—-10 -B £ - -2 Q 2
—Fon=0

b
N -1=—=<0
11

| e e e
-1z -0 -8 - -4 -2 J 2
-11«&<0

2) - 13<-Tm-6<22

- ————h—————
- -7 =& -5 =4 -3 -2 -1 0 1 2 3 4

-4 aom=l

$H3<6+m=1l

-~ ! + o =
- -5 4 -5 2 -1 90 1 2 3 4 35 & 7T
“2ams3
6) 43 =5a—-8<-8
-+ D= Tt
-10 -8 -£ —4 -2 o p
-TZ<a«x0

8) —29<4b-1<7

-—p—ips 3 s - s e
-8 -7 -5 4 -35-1-1 90 1 1 3 4 3

-T«h<?

lland"



Solving and Graphing Compound Inequalities Practice Problems - “or”

Solve each inequality. State your solution and graph it on a number line.

I} Sx—1<—21lorl—4x>17 2y 3a+2<-160r3—-2a<7
-+ -+
—B -+ —-4 -1 2 1 4 & B - -8B -7 -& -3 4 -5 2 -1 0 1 I 3
3 dn—-5230r3n—-1=3 4H n+d4<ldor—-5+5n=10
IRV IRV S M
5) 3-4k>190r 1 +2k=-1 6) 3x+6>%0rx—5=-10
R e S A s e S s e e S e e
- -8 -7 46 -5 4 -5 2 -1 0 1 T 3 - - -T 46 -5 4 -3 21 0 1 2 3 4
Ty 2n—-12%0rd4-2n=-6 ) 3x—1=217orx+3<3
-—— “+ y ¥ ¥ ¥ ¥ ¥ * ¥ ¥ ¥ e
-B —& -4 =2 o I 4 & B -8B & -4 -2 O I 4 & B 13

DN 3+3p<lor3+5p=2 I 4+3n=2o0r2-2n=-4

o IS TR T T TR T S T T S TR T T S T T T

-

-7 % -5 4 -5 2 -1 2 1 2 3 4 3 -T+€-54-52-10 12 3 4 35 & 7 B



Solving and Graphing Compound Inequalities Practice Problem Answers - “or”

) Sx—-1<-2lorl—4x=17 ) 3a+2<-16or3—-2a<]

£ £ 4 -1 0

el | ————————-
2 1 4 & 8 % -8 -7 -6 -F 4 -3 -2 -1 0 1 I 3
xxdorx<—4 g« —Gorax -2
3 dn—-523or3n—-1=x5 4y n+d<ldor-53+5n210
" ———— 3 % —9 .
-7 -6 -3 % -3 -2-10 1 2 3 4 5 & =2 -1 o0 1 2 3 4 35 & 7 & % 10
nElorns =2

n<lZornzl

5) 3-4k>190r 1 +2k=>=-1 6) 3x+6=>%o0rx—3>=-10

R R e e T
-2 -8 -T 6 -5 4 -3 -2 -1 & 1 I 3 % - T -46-54-35-2-1 0 1 X 53 4
k< —dorik>-1 xxlorx=-3
Ty 2m—1=2%o0rd4-2n=-6 8) 3x—1=21Torx+3 <3
e it —_—
=B -& -4 -1 4] 2 3 [ ] - =& =4 =21 0 2 4 & g 10
nE-Sornz3 xZGorx< -0
9 3+3p=Qor—3+3p=12 I 4+3n=-"or2-2n=-4
st e % ————» 2
-7 =& -5 <4 -5 -2 -1 0 1 2 3 4 5 -T-&6-54-5--10 1 2 3 4 5 & T B
pE-lorp>rl

nE=—Zornzi



Set Theory Practice Problems

Given U = {x|xeZ,1 <x <12, A={1,2,4,6,8,10} B =1{1,3,5,7,8,9}



Set Theory Practice Answers

(@) {3,5,7,9, 11}
(b) {2, 4, 6,10, 11}
(){2,3,4,5/6,7,9,10, 11}
(d) {11}

(e) {1, 2,4,6,8,10, 11}
() {3,5, 7,9}



Order of Operations Practice Problems

1) 5°+6-3

2) 6-(3- 6= 6

3) (14+1)+3 -3

4) (2-2)22+4

5)4+5-6-(4+2)

6) (12-2):2.(5-3)

N2x—12+2+1 if x=-3

8) 122 +2—4x if x=7

9) —11x — 1449 +3 if x =2

10) 5x —2x+7—4 if x=0



Order of Operations Practice Answers

1) 28
2) 4
3) 2
4) 6
5) 28
6) 20
7)-11
8) -16
9) -33

10) 3



Evaluating Functions Practice Problems

1) glx)=2x+ 4: Find g(4)
2) f(x)=4x+3; Find £(0)
3) glx) = x —4; Find g(-9)
4) f(x)=-3x-2;Find f(-2)
5) f{x) = x—4: Find 7(8)

6) g(x)=4x+ 3: Find g(3)

7) flx) =—x - 4; Find f(-3)
8) flx)=2x-3:Find flx)

;
9) g(*c) = —x+ 3; Find g(r) =17

10) f(x)=—2x+ 1; Find f{x) =13



Evaluating Functions Practice Answers

1) 12 2) 3 3) -13 1) 4
5) 4 6) 15 7) -1 8) 5
9) —14 10) -6



Find the Missing Value Within 2 points given the slope practice problems

q

1) (x. —2) and (-5, —4): slope: ;
3
2) (9. Js) and (—1. —2); slope: ;

3) (—?. 2) and (x 6); slope:

e [

4) (1.-9) and (x. -3); slope: _%
5) (—3. 5] and (‘-ﬁ, —2); slope: -7

6) (1 1) and (4. 3): slope: —

o | —

7) (1 ?) and (5. —5); slope: —4

2

8) (9. ~1) and (ﬂ. }-‘]; slope: 3

9) (—?. —6) and (1 —1); slope: 3

10) (6. -6) and (0. }-‘); slope: é



Find the Missing Value Within 2 points given the slope practice answers

1) 4 2) 4
5) -2 6) 8
9) -3 10) -7

L]

e |

e

I 1
=
L
|
O



Write the Equation of a Line Given a Line Perpindicular Practice Problems

1) through: (1. -3). perp.to2y=—x -2

2) through: (3. -3). perp.to vy =— %x + 4

3
3) through: (—3. 5). perp.toy = 4—x +3
4) through: (1. -5). perp.tody—x =16

7
5) through: (—2. -5), perp. to v =— gx -2
1
6) through: (—1. 5). perp.to v = EI +4
1
7) through: (1. 4). perp. to v=— gx +3

1
8) through: (—1. -3), perp. to v=— JX+ 5

—

3
9) through: (1. 2), perp. to v =— SX 5

-

10) through: (—2. 0), perp.to v=—2x+3



Write the Equation of a Line Given a Line Perpindicular Practice Answers

1) v=2x-35 2 4 4) y=—dy—1
)y 2) y=_X-3 3) v=—"x+1 ) '

3 3
5) J‘=%-‘5_17r—9 O y=er-d 7 y=8x-4 8) y=2x-1

2 1
9) y=—x+— 10) yv=—x+1
3 3 2

—



